Notes:

For future notice: 

Please E-mail me if a question seems ambiguous—it is better that I clarify than for you to make the wrong assumption.

For questions like “this is not running”, “I am getting such and such exception”, please E-mail the classlist (cse444@cs) rather than me—I am sure there will be people in the class who will be able to help you faster than I can.

Problem 4:

Many of you have used the SQL operator IN to represent intersection/join.

Note that IN or “belongs” are not relational algebra operators.

If you are in doubt about valid relational algebra operators, please consult the book and talk to us.

Problem 8

If your answer for query #8 is one, this is incorrect. The reason is that the CSE and BIO departments are such departments, yet BIO has 0 students enrolled in their courses. While this is not completely realistic situation for this database, it happens quite often. I have only taken a few points off because you couldn’t verify that your query was incorrect on the initial schema instance. In general, though, a query is correct whenever it is correct on every schema instance.

 General rule—when the condition involves ”having at most N things”, either do an outer join, or specify that an attribute is NOT IN “select… having > N things”. 

I realize the above explanation is somewhat muddy and I have not taken many points off, but please make sure you understand this point by talking to either me or Surajit.

Problem 9

Most people missed the last query. Mostly, you got the people who teach at least one class with 3 or more people, but that does not mean that that person teaches no classes with less than 3 people.

Please see the sample answers and talk to me if you don’t see the difference

